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Corporate Finance (Fin 2200)
  

Assignment 3: Due May 28, 2007 at the beginning of class

Do your work on separate pages and keep them for your personal reference.  Only final answers will be marked, but the key will include more detailed explanations.  On exams you should be prepared to show all work (time lines, formulas, and numbers in formulas — you are not to indicate which buttons you pushed on your calculator). In the questions below “your ID” refers to the 5 digits you write on the upper right hand corner of this page. For example, suppose your student number is 6812345, then “your ID” is 12345; the “first 2 digits of your ID” is 12; and the “last 2 digits of your ID” is 45. Answer in the spaces provided.
Do not round any intermediate calculations.  All final dollar answers must be rounded to two decimal places (e.g., $125.89).  Other final answers must be rounded to 4 decimal places (e.g., 0.1234 or 12.34%).
1) Given an effective annual (assume there are 365 days in a year) interest rate equal to (20+(1/10) times last 2 digits of your ID) %, determine the equivalent rate per . . .

a) . . . month compounded monthly 
________________________%

b) . . . year compounded monthly
________________________%

c) . . . decade compounded every decade
________________________%

d) . . . year compounded every decade
________________________%

e) . . . 350 days compounded every 350 days.
________________________%

2) Given an interest rate equal to (24+(1/10) times last 2 digits of your ID)% expressed as a rate per year compounded every quarter, find the equivalent rate per . . .

a) . . . month compounded monthly
________________________%

b) . . . decade compounded semiannually
________________________%

c) . . . decade compounded every decade
________________________%

3) Two months from today your company will begin receiving cash flows of $10,000 paid every five months.  The last of these $10,000 flows will occur 27 months from today. Calculate the present value (value today) of these cash flows.  The discount rate provided to you by your accountant is (12+(1/10) times last 2 digits of your ID)% expressed as a rate per year compounded monthly.

$________________________

4) You’ve taken out a loan of $30,000 to buy a new BMW.  The loan will be paid off in monthly instalments starting in one month over the next 5 years (60 payments).  The interest rate on the loan is (6+(1/10) times last 2 digits of your ID)% per year (the bank doesn’t tell you, but it is compounded monthly).

a) The monthly loan payments are 
$_____________________
b) The interest charged in the first month is 
$_____________________
c) The first payment reduces the principal outstanding by 
$_____________________
d) The interest charged in the second month is  
$_____________________
e) The amount owed immediately after the 30th payment is
$_____________________

5) Fill in the missing data in the table below:

	Bond Type
	Coupon Rate 

(per year)
	Coupon Frequency 

(per year)
	Face (Par) 

Value
	Maturity
	Yield to

Maturity 

(per year compounded semiannually)
	Price 

	Gov’t of Canada
	CR1
	paid semiannually
	$1,000
	3 years
	6.000000%
	$

	Gov’t of Canada
	8.600000%
	paid semiannually
	$1,000
	4 years
	%
	P2

	Gov’t of Canada
	0.000000%
	zero coupon bond
	$1,000
	5 years
	YTM3
	$

	Gov’t of Canada
	CR4
	paid semiannually
	$1,000
	10 years
	7.250000%
	$

	Gov’t of Canada
	CR5
	paid semiannually
	$1,000
	years
	7.299989%
	$1,055.33

	Gov’t of Canada
	%
	paid semiannually
	$1,000
	15 years
	YTM6
	$1,200.00


CR1: (5.8+(1/100) times last 2 digits of your ID)%

CR4: (7.4+(1/100) times last 2 digits of your ID)%

CR5: (8+(1/100) times last 2 digits of your ID)%
P2: $(1,000 + last 2 digits of your ID)

YTM3: (7+(1/100) times last 2 digits of your ID)%

YTM6: (7.4+(1/100) times last 2 digits of your ID)%

6) We expect a cash flow of $100,000 to be received in 38 days.  Given a discount rate of (11+(1/100) times last 2 digits of your ID)% per year compounded yearly, the present value of the cash flow is 

$________________________

7) MTS Corp. is expected to pay quarterly dividends (starting in 3 months) of $0.50 per share.  The dividend amount is expected to remain constant for the foreseeable future.  Given the risk of MTS shares, the required expected return is (9+(1/100) times last two digits of your ID)% per year (effective).  The price of one share of MTS stock is 

$________________________

8) The price of MTS stock (given the data in the previous question) if the next dividend is in 1 month is

$________________________

9) Ridley Canada’s 1st quarterly dividend is expected to be 3 years from today with an expected amount of $1 per share.  Each subsequent quarterly dividend is expected to grow by 4%.  Following the quarterly dividend 7 years from now, the dividends are expected to grow by 1% each quarter.  Given the risk of Ridley’s stock, the required expected return is (25+(1/10) times last 2 digits of your ID)% per year (effective).  The price of one share of Ridley stock is 

$________________________
10) Five years ago, you negotiated a 5-year mortgage amortized over 20 years. Now, at the end of the contract, your principal outstanding is $(100,000 + 1000 times last two digits of your ID). You re-negotiated with your bank and got a new mortgage rate of 6%. The outstanding balance will be amortized over the next 15 years. How much are your monthly payments?

$_______________________    

